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ol
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44,036,561
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4,050,867
140,212
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A

H

38,107,769
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81,000
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1,496,193

1,428,790
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SM: HMSHEAED
Hal: SUHMSEE
ol MSXE OIP X4 (6191 &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
308 RHXIEHHSOIH 81,000 90,000 £9,000
| 81,000
01 XASHMBLRES 81,000 90,000 9,000
Os0&E HAE QUM T3
500,0002 x8121 %23 81,000
p] 81,000
A28 HSE S4 5,000,000 4,849,000 151,000
308 XHXIEHHSOIH 5,000,000 4,849,000 151,000
01 KASHBLRES 5,000,000 4,849,000 151,000
OA - 238 54 10,000,000, 0002 ¥50% 5,000,000
HIHE L H2SH 2EEY 10,000,000 8,500,000 1,500,000
307 I2tolH 10,000,000 8,500,000 1,500,000
02 LAANBE 10,000,000 8,500,000 1,500,000
ORIHE L4548 L Yotz 10,000,000
COHSHE HEN 300,000 300,000 0
308 RHXIEHHSOIH 300,000 300,000 0
01 XASHMBLRES 300,000 300,000 0
ORXI613 SRIRKHE W 300,000
NLHS o Had 2S 79,680 49,600 30,080
201 Lsr2 Yyl 15,000 21,000 6,000
01 AF=aelb] 15,000 21,000 6,000
O2E=0PIY S22 o 15,000
202 Ofl 19,080 23,600 A4,520
01 =Lioit] 19,080 23,600 A4,520
OHSHAE 2SS YR 19,080
203 Y=Y 5,600 5,000 600
038 AEFZALR=ZY| 5,600 5,000 600
OHSHAE 22 =7 2,400
OHSHAE AL EX 3,200
307 eIztolH 40,000 0 40,000
02 PABYBE 40,000 0 40,000
Os2e D2Ens 40,000
2012 ARDE 20,000 20,000 0




SN MSELE D
MM LSS
cell HSEES I X4 (B9l &9
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K loﬂ/i\_Fo” Hlw &2
307 SI2tolH 20,000 20,000 0
02 QIZHAEE 20,000 20,000 0
O=JHEN HSLE 20,000
HOHOIHS L MBS Y5 4,930,896 3,695,762 1,235,134
p 1,686,317
= 3,244,579
MEHSTES 3,369,796 2,626,762 743,034
p 1,493,317
= 1,876,479
307 BI2t0lA 1,279,580 1,144,920 134,660
p 99,840
= 1,179,740
02 BIAFABE 567,580 627,920 60,340
O MEBHSES 29 487,000
p] 68,550
= 418,450
OMESMSXEI 2124 (121) 20,580
p] 10,290
< 10,290
Oz=sg 2yt N 45,000
OMEHS HRAX(NTK, ARIH) 15,000
04 BIZIBAIZE 712,000 517,000 195,000
ONFHSKNEX L&3 2,000
b 1,000
= 1,000
OME NS HE L &K (POOL) 570,000
02009 EHLE 024 MEHSHI 40,000
pJ 20,000
< 20,000
OZ=XAD| MENSHS X 100,000
308 RXISHHISOIA 2,090,216 1,481,842 608,374
p 1,393,477
= 696,739
01 KXSHBALES 2,090,216 1,481,842 608,374




SM: HMSHEAED
Hal: SUHMSAE
ool ZOHOINS L MBHS 23 (e9: @8
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Ofl & o il i~ o Rz
OMEMSNTA Q12|
1,646,400, 0002 *75% 1,234,800
p] 823,200
= 411,600
OMEBHSDA 2% 107,216
ol 71,477
= 35,739
OMEHS T2 29 255,150
p] 70,100
= 85,050
0024 HSESXR (NS
657,400, 0002 *75% 493,050
p] 328,700
= 164,350
BOHQHSRE 1,272,100 997,000 275,100
307 QI2HOIF 1,152,100 917,000 235,100
00 PIAANBE 917,000 437,000 480,000
OR+d4 L NS 30,000
OB HE 454 st =2 350,000
OB MBS HA 87,000
OBMAMEHE NEX S4 34,000
OBMAMSSE 2 416,000
04 DIABARE 235,100 480,000 244,900
OFIHHHAEHE HIIKL 25,000
OZ=03 Ha 2 &N 100,000
ORI153 SLBOHAMT M2 X 60,100
OB HSDA 2 50,000
308 XHXISHHISOIH 120,000 80,000 40,000
01 XACSHMBLRES 120,000 80,000 40,000
ORI158 BLBOHAMT MHE X
400,000, 000! *30% 120,000
SAE ATZDA 29 96,000 72,000 24,000
308 XHXISHASOIH 96,000 72,000 24,000
01 XXSHMBLRES 96,000 72,000 24,000




SN HSH2ED
HE: BLUNSHE
Sl FOIOINIS o MEHS A5 (5l &2
_ _ MNuE o
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o Hnz2
ORAH AEXDASY(ER, 52, HIE
DIE) 320,000, 00021 30% 96,000
AEX2Y ALY 193,000 0 193,000
o] 193,000
308 XHXIEHHSOIH 193,000 0 193,000
| 193,000
01 KNASHBLRES 193,000 0 193,000
OAR=ZSYAYSY 193,000
| 193,000
ME Jle Ale 25 2 X 15,770,000 14,711,000 1,059,000
= 7,971,000
| 114,000
= 7,685,000
TTHSAE 25 L 242Y 14,395,000 3,616,000 779,000
= 7,971,000
| 114,000
= 6,310,000
403 TIXISHSKH=0IE 14,395,000 3,616,000 779,000
= 7,971,000
| 114,000
= 6,310,000
01 XXM A= R E 14,395,000 13,616,000 779,000
OB YAUHSHAL 8,400,000, 00024 *50% 4,200,000
2 3,000,000
= 1,200,000
OMEHSTAXS(HE)
200,000, 0002 *50% 100,000
2 100,000
OYDSHBHSTAXS(YN)
1,000,000, 00024 *50% 500,000
2 500,000
OZyBHeSTREY
4,300,000, 00021 *50% 2,150,000
2 1,800,000
= 350,000
OMEHSZHES (B0
450,000, 0002 *50% 225,000




SA: HSEAED
BH: BLHSHE
EHol: IS OlUF AlE 23 2 X (Er9): &2
_ _ _ Muo
SH-EH . S2(30) - MRAY - BES ol Sl ko HRE2
- 225,000
OHELSHH S
5,218,000, 000& «50% 2,609,000
Fas 1,909,000
= 700,000
OBIHETHEH (0}
2,000,000, 000& *50% 1,000,000
OMSAEBAL (D2 S)
228,000,000 *50% 114,000
Il 114,000
OMEBUSOIZATIZA (5 D)
2,600,000, 0002 *50% 1,300,000
OSoMSUE AlEES 22(HY)
2,400,000,000& *50% 1,200,000
OF BHAMSUHE AlLEa 22(0H)
200,000,000 *30% 60,000
O3 & A (o) 1,000,000, 000& *50% 500,000
OHYS 485 MEHSIA(EIL) 307,000
P 307,000
OZ2=s&1 ds¥d =PN 130,000
s 130,000
ARD MEHSAL 2 B4 1,375,000 1,095,000 280,000
403 XXIEHSA=01H 1,375,000 1,095,000 280,000
01 XXSHHMAE2EX 1,375,000 1,095,000 280,000
OHNOIESHAXHCIEH AL
1,280,000,000& *50% 640,000
0472 MEHSAL 25 L 2Y
1,470,000, 000& *50% 735,000
Fad -84 B5 4,406,272 6,659,073 A2,252,801
= 5,000
s 796,000
Il 2,169,550
2 140,212
= 1,295,510
dad 54 - 235 2,387,758 2,145,591 242,167
= 5,000
J| 1,539,775
= 842,983
EHUT AR 29 6,000 6,000 0
I




P HSEAEL
M

EAYE -84 Bs
D HAU 24 -85 el EE)
SN HH G (EH) - MBAY - BYS Ak Soe s
201 LprR3AH| 6,000 6,000 0
01 At=2teldl 6,000 6,000 0
O &da4d 29 6,000
ol sk T2 0 240,000 200,000 40,000
| 120,000
L= 120,000
307 glz2told 240,000 200,000 40,000
| 120,000
= 120,000
02 BltF&E=X 240,000 200,000 40,000
O #Ead s8R & 240,000
Il 120,000
& 120,000
cys—net = XI& 520,000 568,000 248,000
| 340,000
L= 180,000
307 QI2t0IA 360,000 360,000 0
| 180,000
& 180,000
02 QltF&E=X 360,000 360,000 0
OHAW HEX ERBIEE 360,000
I 180,000
= 180,000
308 AtXIS XSO0l & 160,000 208,000 248,000
J| 160,000
01 XXSHHBLAEES 160,000 208,000 248,000
OANlZ 44 SEXNEMA 25
320,000, 000 *50% 160,000
J| 160,000
CEAERRAS 23 24,000 14,600 9,400
| 24,000
308 XXEHMSOIE 24,000 9,600 14,400
Il 24,000
01 AXHHBAEXS 24,000 9,600 14,400




SN HSHEAED
Hal: HAW - 54

HdBES
o BAW S5 25 GEERED
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
O ANZEHEAHE 29 A3
48,000, 0002 *50% 24,000
J| 24,000
a4 gar= 0ot 0l 1,078,058 700,291 377,767
| 829,275
== 248,783
308 AHXIEHHMSOIHA 1,078,058 700,291 377,767
J| 829,275
= 248,783
01 AXSHHIABEZ 1,078,058 700,291 377,767
OFA4d 8E =X
1,658,550, 000& *65% 1,078,058
J| 829,275
T 248,783
Had 3RY 29 63,000 107,000 A44 000
308 AHXIEHHMSOIA 63,000 57,000 6,000
01 XXNHHBIAEXZ 63,000 57,000 6,000
OFA4E B2Y 29
10,000, 000 *21 0 2 *30% 63,000
HAaE Al -2 4 At 56,700 90,900 A 34,200
J| 39,000
= 17,700
308 XXX SOIA 56,700 90,900 A 34,200
J| 39,000
= 17,700
01 XXNHHBIAEXZ 56,700 90,900 A 34,200
O BAE SUEOAl #A 20,000, 0002 *30% 6,000
HAWE S0tel 84 X
78,000, 000& *65% 50,700
J| 39,000
T 11,700
HadE dx - - gs A3 93,000 128,000 A 35,000
307 Q12+l 88,000 128,000 40,000
02 0I2tZAE X 70,000 110,000 240,000
O&AES G J|EHA} 30,000
Ol AL EE 30,000




SN MSHAED

oM A =4 95
ool HAW 54 - 25 GEERED
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
Os=ac @ 2ol9X 29 10,000
04 BQIZ2FSHAIE X 18,000 18,000 0
OFAYHE SotAH ot sl 12,000
OAJNRE Z&EX 6,000
403 XXIEHMSA=201H 5,000 0 5,000
01 XAXESHMASEEX 5,000 0 5,000
OZAINRE &HHI2Y 10,000, 000 & *50% 5,000
HER &n 249 18,000 21,000 A 3,000
308 XXX SOIA 18,000 21,000 23,000
01 AXNSHHIABEXTZ 18,000 21,000 A 3,000
Obl&dAstn 29 10,000, 000& *6IH 2~ *30% 18,000
HAaE 42FHEH 29 70,000 70,000 0
Jl 35,000
= 35,000
307 QIZtolA 70,000 70,000 0
J| 35,000
= 35,000
02 0I2tFAE X 70,000 70,000 0
OdE H2stHH 29 70,000
J| 35,000
o= 35,000
diod HEEET 10,000 0 10,000
Jl 5,000
= 5,000
307 QIZtOIA 10,000 0 10,000
| 5,000
== 5,000
02 QUABAEX 10,000 0 10,000
O &#34a4d 3 EE3 10,000
J| 5,000
< 5,000
HAaE 2oE 299 196,000 224,800 A 28,800
J| 146,000
== 50,000
:




SN MSHAED

o L e

M Had -S4 95
o BAW S5 25 (e @ el
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
307 2IZ2t0lA 100,000 100,000 0
| 50,000
= 50,000
02 QItFAE X 100,000 100,000 0
OUEZsE 29 100,000
J| 50,000
< 50,000
308 XXEHMSOIHE 96,000 124,800 A 28,800
Il 96,000
01 XXSHNBINE2EXZ 96,000 124,800 A 28,800
OAZ 23tE 2gZ 192,000, 000& *50% 96,000
| 96,000
T FaUPA3 2Z 13,000 15,000 A2,000
= 5,000
| 1,500
= 6,500
307 glztold 13,000 15,000 A2,000
= 5,000
J| 1,500
= 6,500
02 QItFAE X 13,000 15,000 A2,000
O & 3irdzdas 29 3,000
| 1,500
< 1,500
O #AY EZ3|9 NE =¥ 10,000
= 5,000
& 5,000
FaE sdAd 2F & 22 2,018,514 4,513,482 A2,494,968
s 796,000
| 629,775
= 140,212
& 452,527
HAE sEAd 2K 217,010 168,328 48,682
J| 191,660
& 25,350




D HMSHAED
N PNE
AW SHAS 25 o

= =

]

cl

SA-EH O (BH) - HBAY - B2 ggi HRS2
308 XAXIEHXMSOIA 217,010 168,328 48,682
J| 191,660
= 25,350
01 XXNHHBIAEXZ 217,010 168,328 48,682
O3 AHE EHAIE & M 29
147,000, 000& *65% 95,550
J| 73,500
< 22,050
OFA2HE A& 29 /33 XA
22,000, 000& *65% 14,300
J| 11,000
T 3,300
OFALEALHALE HAEX T AN BIXI X &
214,320, 000& *50% 107,160
J| 107,160
HaE &2y 29 317,850 259,500 58,350
J| 244,500
== 73,350
308 AHXIESHMSOIHA 317,850 259,500 58,350
J| 244,500
= 73,350
01 AXNSHHIABEZ 317,850 259,500 58,350
O &3@3a4d &H 29 489,000,000 *65% 317,850
J| 244,500
o= 73,350
HAaE AL &5 L B 796,000 3,404,000 A2,608,000
g 796,000
403 XXM SKH201H 796,000 3,404,000 A 2,608,000
rag 796,000
01 XXESHHA=2EX 796,000 3,404,000 A 2,608,000
O&AE 8ANd 2HE & B 796,000
rag 796,000
Hiod 25ds dH 29 407,230 387,230 20,000
J| 193,615
= 213,615
307 QI2t0IA 407,230 387,230 20,000
J| 193,615




od
’J
oF
oJ

n
gl

ok

0

fof ™
Hw
ER

) o <0
oW

R0 1) 1)
0 <4 <1
= RO RO

= A
)

X ZH

00J

C]

3 S S 3 slglglglg Sl SEBEEE
S 8 S S g1sls|els 131388
A0 S o 0 o slis|g|gls gle|e|gls
Klo A IR I IR ql <] <l <<
E
)
o < < <t o o (e) (e) o o (@) (e} [e] (e} (e} o
S g g 5 2|E|E|B 5 g8 |B|E|E|ER
~ 7o) o) e 0| ©]| 0| 0 [ o |lo |lololwlo
LH3r e N N N |33 3|S g |8 S|8 |88 |8
uiled! A B - =
RI=
[fo N o o o o Lo Lo o < [aN] [QN] < (V) [aN] <t <t [qV] [qV] o o o o o o o o o o o o o o
28 B B8R 28|38 5|88 38 & 85|8|8|8|81B E|EE B |8|8|8|SE
Sy 8 885 888 |g S S8 TS 8 £2|8|8|2|2z |88 g |~|7|5|ds
z = == B N
<
=
L4 = U =~ W W (TR W
_:Mu
oir ]
70 _ L S
J - o) Oy
B 30 20 S
: 0H >
ol _ fo =
= 30 5 ~ o
o+ B3 30 i of & © —
=3 o 0H o o 7 w0 w 0
. X0 O - = o 2w = <0
— = L|_ K — — _._:_\
= < < DF > = o = |z
Gl 0 i R ug ROU® | g [ ®|m w |T
- R = = 20 — 30 | 20 |= 20 |= )
— Kd H K4 = < lap U ol o _
oF 140 ) A - S | = | n | <4 = |_
o =2 ol 0 o oo ] SR I B =
Rl &0 | oo X 0 < 1 0 :o: e W_T: b | e o |
- wu_ R M il | %o < R0 RO 20 uo | 25 [RO KO Wlre k0 | = A IEY]
I N VR <1 = | o Ny i |l & |[Lleo a [B o) o
o |%|a wm R0 = M; E ol il w | Xk ® Kl ® |B S| oV|=
. sl © O O |z ~ O S dw | ko | — O - O |rR|D|R| -
z |88 R =] S wi=x|a|s|S 2|3 LN O I T S S
n 1" | & | M|
o | R |~
= 0

_12_



od
’J
oF
oJ

% % (@] (@) ([e) (]
. d <
no
Klo
E
-
g8 gl1g|8|8
g g < | < <<
LH3r
m<l
pak=
|55 §|5|8|28 &
A [l & | ]SS <~
(e5) (ep) (ap) [ep]
3
<
=
or
X0
Bl
31
-
Ik
=
= |r ) 5T R
Y LS K- RlOKE
o o oF K- OF
% 30 30 _|or @
o ) E=l S
o« 5 Rg <
e O N K lob  mo
O [ = s| %z o
R |z | = |5|3|2|r =
. ~ 80 | 00| o
z <= N T S =S
IS fr | o
ol

_13_



